SSHiEB AT EFMS N ER

EJ%;;F_J};;S@R%: SB1,SSER¥E:H B , H4%:(200*200*8*12), L &: P001-1 [B:14,Y4:93], SSBK: 493.2 cm
SS = .
SB1 (H #48:200*200*8*12), E{y &: 49.872 kg/M, EE{IRE&: 1.18 M2/M, P Xt BE M KR EK: 1.18 M2/M
E£: 493.20/100%49.872/1000= 0.2460 T (M)
KEME: 493.1951/100%1.18 M2/M= 5.839 M2
Bh K #t B RMEE: 493.1951/100%1.18 M2/M= 5.839 M2
Hefi%Ph @8- 0.000 M3
D FE8 (B S 5T 5.00-4.93 = 0.07 M (0.0034 T(Hf)) 5£:5.0 M EXER )
R E- SRR, IE S IR
R, EE:20 mm ,EEFTEX:200*150*1 mm*mm
= £=(200*150%1)*20/1000000000(M3)*7850 Kg/M3= 4.710 Kg
EAREE:15 mm EHEFTER:100*150*1 mm*mm
E£=(100*150%1)*15/1000000000(M3)*7850 Kg/M3= 1.766 Kg
Eo 5T B - 1242 3040
BY 1§ S-19-76, BEFTHE :(493.2/20)*2=49 X
SR AEE%R: M24, BEFTER23=6 X

¥JE: 3F ,SSHRR 5% SB1 ,SSERHE:H A4 , #4%:(200*200*8*12), {i&E: P001-1 [A:990,Y4:33], SSBE: 329.6 cm
SSBMEA: 31.31 E
SSEEFHE:
SB1 (H #4§:200200%8*12), B E: 49.872 kg/M, BE{I REE: 1.18 M2/M, B5 K #tt BEM REHE: 1.18 M2/M
EE:329.60/100*49.872/1000= 0.1644 T(WH)
FREE: 329.5968/100*1.18 M2/M= 3.902 M2
Bh Xt B R EE: 329.5968/100%1.18 M2/M= 3.902 M2
HefKkP @55 0.000 M3
)58 (B S EH): 4.50-3.30 = 1.20 M (0.0600 T(M)) 5F:4.5 M %R < £4)
T E- IS AR, B A AR
IR, EE:20 mm ,EEFTEX:200*150*1 mm*mm
EE£=(200*150%1)*20/1000000000(M3)*7850 Kg/M3= 4.710 Kg
EESREE:15 mm EHEFTEX:100*150*1 mm*mm
EE£=(100*150*1)*15/1000000000(M3)*7850 Kg/M3= 1.766 Kg
Ee 5T E-1R 4 30140
BY 1 $]: S-19-76, HEFTHE :(281.6/20)*2=28 X
SR AR M24, BEFEN2*3=6 X

¥E: 3F ,SSBRRIE: P1 ,SSERME:C B | R 45:(100*50*20*2.3), {u&E: P001-1 [A:1609,Y4:252], SSBREK: 1574.6

cm
SSEEIHE:
P1 (C #4§:100%50*20*2.3), BB{IE: 4.167 kg/M, B REHE: 0.46 M2/M, BH A #t BEM REME: 0.41 M2/M

EE8: 1574.56/100%4.167/1000= 0.0656 T (M)

FREME: 1574.563/100%0.46 M2/M= 7.274 M2

By K it B R E S [ 5]=0.0 M2

He AP ZEEE-T5: 0.000 M3

HEFEE (B AFEED): =0.00 M (0.0000 T(HE)) FA4BITREE
BT E- ISR, SRR

EAREE:10 mm EEFTER:100*100*1 mm*mm

E£=(100*100%1)*10/1000000000(M3)*7850 Kg/M3= 0.785 Kg
B 51 - 1R 42 SR 40

=P HEER: M16, BEFTERN 2 2=4 X

18 3F ,SSIRAR 3% P1 ,SSEREE:C B4 , ##£:(100%50%20%2.3), {i{&: P001-1 [A:990,Y4:122], SS¥RF: 329.6 cm
SSRIEA: 31.31 E
SSEEIE:
P1(C ##8:100*50*20*2.3), B E: 4.167 kg/M, B REE: 0.46 M2/M, By K it BE U RE&: 0.41 M2/M
E8: 329.60/100*4.167/1000= 0.0137 T(Nf)
KEME: 329.5968/100*0.46 M2/M= 1.523 M2
By K it 7B R EE:[FF]=0.0 M2
HeRgHh @575 0.000 M3
H B (B \HE): 4.50-3.30 = 1.20 M (0.0050 T(HE)) 5:4.5 M ZER D




BT E- ISR, S AR

EAHREE:10 mm EEFTEX:100*100*1 mm*mm

EE2- (100*100%1)*10/1000000000(M3)*7850 Kg/M3= 0.785 Kg
B 5T E- 1R R4

Sh Hig#: M16, BEFTER 2 2=4 %




